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" Financing Aging in Developing Economies:
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1. What is the question?
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2. Why should we care about it?
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3. What is the author’s answer?
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4. How did author get there?
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® Demographics, education investment and human capital

N total population
N°¢ the population of children
N’ the population of young adults

N}/IN, the population of skilled / unskilled young adults

N’ the population of old adults
n the average fertility per young adult
T’ the probability of young adults survive to the old adulthood

® Government

M . the public medical expenditure?

G other government expenditures
(7 the rate / sum of labor income tax
T lTy the rate / sum of capital income tax
T 1T, the rate / sum of consumption tax

® Production and Labor Market

Y’/ output of the formal sector

L//L /K’ skilled / unskilled labor / capital in the formal sector
Y* output of the informal sector
L/L /K" skilled / unskilled labor / capital in the informal sector

® Individual’s Problem

,
0

¢} /¢ the current / old-age consumption*
n; the number of children’
0. labor allocation
g education investment cost on children
al.f la; annuity in the formal sector / informal sector
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